
V = vizsga MJ = NJM=

mp = mérési pont megjegyzés Nem Jelent

vp = vizsga pont Meg

max 20 [mp] max 70 [p] max 100[%] max 100[%] max 40[vp] max 40[vp] max 100 összpntsz. 5

min 8 [mp] min 28 [p] min 40[%] min 40[%]* min 16[vp] min 16[vp] min 40 összpontsz. 1

NK ∑Mér [mp] Ár  V [p] Ár V [%] Hő V [%] ∑Ár [vp] ∑Hő [vp] ∑Mér[mp]+∑Ár[vp]+∑Hő[vp] Jegy MJ

AG74BF 17 37 53 65 21 26 64 3

EO1L3B 18 51 73 65 29 26 73 4 Ár 2. vizsg idén

H2JE1R 16 44 63 55 25 22 63 3 Ár. V tavalyról

I08XAL 20 28 40 45 16 18 54 2

O94M84 17 56 80 85 32 34 83 4 Hő 2. vizsg idén

WZV32F 19 44 63 20 25 8 52 1 Ár 2. vizsg idén

E7TILE 17 29 41 65 17 26 60 3 Ár. V tavalyról

I1TYLR 18 46 66 85 26 34 78 4

R9MFDV 19 44 63 70 25 28 72 4

Elégtelen vizsga

Elégtelen részvizsga

Hozott mérési pont

NK Mérések III. Vizsga (2015.01.22)


